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Answer the following questions related to the gram formula mass and the percent composition of the element in the

compounds.
1. Calculate the percent composition of K,0. (Show the % O and the %K.) éim_,
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e}bK )‘WD’%37 O:lX]b”jiL
T 3
%O: %)\loa“ A
2. Find the percent composition of Sr3P,. (Show the % Sr and the %P.) GFMm__
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3. Find the percent composition of sodlum hydroxide. (Show the % Na, %0 and the %H.) (Write the formula first).
Na" O" = NaOH afm_
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4. Find the percent composition of glucose, CsH1,06. (Show the % C, %H and the %0.) _G_FW)/
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5. Whatis the percentage of|copper{in a compound called copper (1 nltrate? (Write the formula first.)
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6. Determine the percentage of hydrogen in a compound composed of aluminum and the hydroxide ion. (Write the
formula first.) - A\y OH
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What is the percentage of carbon in carbon dioxide (CO,)?

C-1x12= 12
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If you have a 25 gram sample of carbon dioxide (CO,), how many grams of that is carbon?

0.472 x Q54 = 6.‘55 C artbon

What is the percentage of sodium in sodium chloride (NaCl)? ﬂ
Ch=lx 55"4._55_
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How many grams of sodium are in 75.0 g of NaCl?

0.3% x 75.04 {;m Nq‘
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What is the percentage of oxygen in aluminum phosphate (AIPO,)? N_ |x 7= 27
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How many grams of oxygen can be obtained from 25.00 grams of aluminum phosphate?

0.535 x 5.0 9 * Jg-lj 0

What is the percentage of silver in silver (Il) nitrate (Ag(NO3),)? _C]ﬂ‘
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How many grams of silver can be recovered from 125.0 grams of silver () nitrate?
0-4bk X 2509 F57.25 /3\3
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What is the percentage of gold in AuCl;? Awr 1% 1977 |97
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If you have 35.0 grams of AuCl;, how much gold can be recovered?

0.652 X35.04 %aa.‘zj M



